: 14 T T " ‘ '

Q1 & decays by emission of VM aghigibialirtap: 3 i

& = sl : -
m (B) p* é(c) n (D) o
G The number of a and B-particles emitted, when the following fuclear transformation takes place
are and respectivel
P = SBG STUDY
X—op Y
(A)6,2 (B)S,6 (©)8,4 D)8, 6
30

Q3 | When 5P emits apositron, the daughter nuclide formed is
(A) 151)29 (B) 16Si3° L HC) 14Sl30 (p) l6P30 ﬁo

Q4  Symbol is needed to complete the nu¢lear equation $3Cu(p;.....) 29Cu 4o 1

S 18|
MHZ (B) ,n' (C) ,He? D) _n°
Q.5 Al isastable isotope. 2 Al is expected to disintegrated by
(A) a emission .,éf) _?[3 emission (C) Positron emission (D) Proton emission
AT
Q.6 Loss of a B — particle is equivalent to ; &
(A) Increase of one proton only - (B) Decrease of one neutron only
t9)’l§oth (A) and (B) . (D) None of these.

Q.7 The half-lifeof a radloactlve isotope is three hours. If thednitial mass of the isotope were 256 g, the
mass o_f it remaining undecayed after 18 hours would be Wi " ii.,é
(A)16.0g B)40g /(C)80¢g (D) 12.0g 26

Q.8  Considerthe fol]owmg nuclear rcactlons . LR 80 ® f"f %;3

4ry.. X
M—)Y N+2 He,YN—>B L+2p* o=y o
The number of neutrons in the element Lis Gp-u = 9
. ¢
(A) 142 (B) 144 (C) 140 (D) 146

2.9 The half-life of a radioisotope is four hours. If the initial mass of the isotope was 200 g, the mass
remaining after 24 hours undecayed s, | el
(A)1.042 g (B) 2.084 g AC)3.125 g (D) 4.167 g 28

2.10 Whlch of the following nuclear reactions w1ll generate an isotope?

(A) neutron particle emission (B) positron emission
(C) a-particle emission " (D) B-particle emission

).11  The analysis of a mineral of uranium réveals that ratio of mole of ®Pb and *U in sample is 0.2.

If effective decay constant of process *U — 206Pb is A then age of rock is
L 1 8 4 . {6
(A 5 In7g 3,5 (1) T ln 1 D) 7 In (g)







